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— === Laser O -—
— Entrie=: 581561
— Mean: 16. 37230 &/- 00034
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— === Laser ON -—-
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— Sid Dhey: 0U5346 -~ D006
— === Laser OFF ---
— Entries: 70077
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[ Sid Dey: 03476 +~ 00009
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=== Laser O -—-
Entrie=: 58151
Mean: 16,4908 &/~ 000033
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=== Lager OFF ---
Entries: 70077
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Sid Dhev: 04512 - 00072
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=== Laser O -—-
Entries: 58151
Mean: 316207 - 000063
Sid Dev: 1.5282 - 0.0044

== Laser OFF ---
Entries: 70077
Mean: 53045 «- 0.0032
Sid Dev: 0A556 - 0.0023
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=== Laser O -—

Entrie=: 581561
Mean: -0.0016 «/- 00016
Sl Doy 0.3654 - 00001

=== Lager OFF ---
Entrie=: 70077
Mean: -0.0014 «/- 000014
Sid Dhey: 03589 - 00070
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=== Laser O -—
Entries: 591561
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=== Laser OFF ---
Entries: 70077
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=== Laser O -—-
Entrie=: 58151
Mean: 000001 +/- 0.0011
Sid Dhey: 02503 - 00000

=== Lager OFF ---
Entries: 70077
Mean: -0.0001 «- 00010
Sid Dev: 09608 - 00007
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=== Laser O -—-
Entries: 58151
Mean: 00003 «- 0.0003
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== Laser OFF ---
Entries: 70077
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=== Laser O -—-
Entries: 58151
Mean: 00032 +- 0.0010
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== Laser OFF ---
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